(% &C@ @@ Calcular porcentagem de decimais
0006 h64% 060

Nome: Encontro: Data: Pontuagdo:
0,41 x40% = 1,56 x 50% =
8, 08 x 80% = 3,35 x60% =
2,72 x20% = 3,39 x30% =
6,33 x 50% = 8,97 x 50% =
0, 98 x 80% = 5,5 %60% =
2,94 x70% = 8,48 x 40% =
3,1 x20% = 6,06 x 40% =
3,57 x70% = 1,6 % 10% =
8,16 x 50% = 8, 84 x 30% =
7,13 x 50% = 9,84 x 50% =
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Calcular porcentagem de decimais

Nome:

0,41 x40% = 0.164

8,08 x 80% = 6.464

2,72 x20% = 0.544

6,33 x 50% = 3.165

0, 98 x 80% = 0.784

2,94 x70% = 2.058

3,1 x20% = 0.62

3,57 x70% = 2.499

8, 16 x 50% = 4.08

7,13 x 50% = 3.565

Encontro: Data: Pontuacao:

1,56 x 50% = 0.78

3,35 x60% =2.01

3,39 x30% = 1.017

8,97 x 50% = 4.485

5,5%x60% = 3.3

8,48 x 40% = 3.392

6,06 x 40% = 2.424

1,6 x 10% = 0.16

8, 84 x 30% = 2.652

9, 84 x 50% = 4.92
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